Math 3200 - Test Chapter 8 


Name:____________________________

Part A - Multiple Choice.  PLEASE PUT YOUR ANSWERS ON THE LINES PROVIDED ON THE 3RD PAGE
1.
Express 3loga+logb-logc as a single logarithm.
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2.
Solve for x:
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3.
Evaluate:  
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b)
1.19
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4.
Determine the equation of the asymptote for the graph of  
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5.
Solve for x:
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c) 12


d) 43

6.
What is the inverse of  
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7.
Solve:
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d) no solution
8. 
Solve for x:
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9. 
The equation 
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 can also be written as __.
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10. 
What is the y-intercept for the graph of the function 
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a) 5


b) 7


c) -1


d) 3
11.
The graph of 
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 has been transformed.  It has been reflected in the x axis, horizontally 
stretched by a factor of 2 and translated 6 units left.  What is its new equation?
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12. 
Determine an expression for “x” if 
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13. 
Solve for “x” 
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14.
The graph of 
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is the same as ___.

a) the graph of 
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[image: image53.wmf]1

2



b) the graph of 
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d) the graph of 
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15.
The domain for the function 
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16.
 Solve:  
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ANSWERS

1. __________
5. __________
9. __________
13. ___________

2. ___________
6. ___________
10. __________
14. ____________

3. ___________
7. ___________
11. ___________
15. ____________

4. ___________
8. ____________
12. ___________
16. ____________
PART B: Constructed Response. Show all workings for the following questions. 

(22  marks)
17.
The population of a bacterial culture doubles every 6 hours.  If the present population is 4000 
bacteria, how long will it take for the population to reach 75 000.   (round answer to nearest hour)   












(4)
18.
Algebraically solve for x:








(4 )
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19. 
Graph 
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 without the use of technology.  Answer the following questions first.
 (10)  
Mapping ______________________

Domain ____________
        Asymptote ___________
Base Table 
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New Table 
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Transformations: Any reflections? _____
HS ____
VS _____
HT ______
VT _______
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x-intercept: show workings
20.
When Mrs. Windsor is speaking, her voice has a decibel level of 55.  When she gets excited it 
raises to 80 decibels. How much more intense is her excited voice compared to her calm voice? (4)
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